CHAPTER I

Summative Practice
Section A
1

An octagon has 8 sides.
Answer: C

A heptagon has 7 vertices and 14 diagonals.
Answer: D

All the interior angles of an equilateral triangle = 60°

Sw+60° =180°
Sw =120°
w =24°
Answer: A

ZNPR =ZQNP
=180°-77°
=103°

ZPOR =41°

r+103°+41° =180°

r=36°

Answer: B

ZCBF =180°-78°
=102°
102° + x + 2x + 3x =360°
102° + 6x =360°

6x =258°

x =43°
Answer: A
£Q =69°

z=ZQO0P

=180°-32°-69°
=179°
Answer: D
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Fully-worked Solutions

Section B

1 (a) Heptagon
() 7
(© 7
d 14

2 (a) False
(b) True
(c) True
(d) False

Section C
1 (a) ZLNM = ZLMN
=45°
x =180°—-45°
=135°

(b) LTWV + LTVW =90°
s+90°+41°+ 100° + 103° = 360°
s =26°

© ZABD = ZADB
=59°
X +59°+59°=180°
x =62°

ZECD =180°—113°
=67°
Y+67°+59° =180°
y =54°

X—y =62°—54°
=80

(d) Z4BCG +55°+88° =180°
ZBCG =37°
y =4£BCG
=37°
x =y+4£BCG
=37°+37°
=74°

FULLY-WORKED SOLUTIONS

1



